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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Define genetic load.
		  Oo{Z{Q>H$ ^ma H$mo n[a^m{fV H$s{OE&

	 (ii)	 Differentiate between Co-evolution and Co-speciation.
		  gh-CX²{dH$mg VWm gh-Om{VH$aU ‘| {d^oXZ H$s{OE&

	 (iii)	 What is a Cline?
		  ³bmBZ ³¶m h¡?

	 (iv)	 Who gave the Neutral theory of Molecular Evolution?
		  AmpÊdH$ CX²{dH$mg H$s VQ>ñW n[aH$ënZm {H$gZo Xr?

	 (v)	 Differentiate Homology and Homoplasy.
		  hmo‘mobm°Or VWm hmo‘monbmgr ‘| {d^oXZ H$a|&

	 (vi)	 What is fundamental niche?
		  AmYma^yV Ambm ³¶m h¡?

	 (vii)	What is an array?
		  Eoao ³¶m h¡?

	 (viii)	Define Random Sampling.
		  ¶mÑpÀN>H$ Z‘yZo H$mo n[a^m{fV H$s{OE&

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&
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2)	 Explain Hardy Weinberg's law with the help of an example.
	 hmS>u {dZ~J© {Z¶‘ H$mo CXmhaU H$s ghm¶Vm go g‘PmBE&

3)	 Write a note on molecular drive.
	 AmpÊdH$ S´>mBd na EH$ ZmoQ> {b{IE&

4)	 What is the principle of Multi factorial.
	 ~hþKQ>H$s¶ {gÕmÝV ³¶m h¡?

5)	 Explain / g‘PmBE

	 (i)	 Penotypic Variations	 bjUàê$nr {d{^ÞVm

	 (ii)	 Gentic marker		  Oo{Z{Q>H$ ‘mH©$a

6)	 Explain phenotypic plasticity.
	 bjUàê$nr Z‘Zr¶Vm H$mo g‘PmBE&

7)	 The % age of water, lipid, protein and other materials is 66.35%, 
6.66%, 5.2%, 21.79% respectively in the body of a species of 
fish. Draw a pie chart with the help of the given data.

	 ‘N>br H$s EH$Om{V ‘| nmZr, dgm VWm àmoQ>rZ d AÝ¶ gm‘J«r H$m à{VeV 
H«$‘e… 66.35%, 6.66%, 5.2%, d 21.79% h¡& Bg S>mQ>m H$s ‘XX 
go EH$ nmB© MmQ>© H$m {Z‘m©U H$[aE&

8)	 Find the Harmonic mean of the following data relating to the 
weight of ovary of 8 fishes in gm 20.1, 22.0, 18.1, 30.2, 18.1, 
24.0, 32.0, 30.0 respectively.

	 AmR> ‘N>{b¶m| H$s AÊS>o Ho$ gm ‘| ^ma H«$‘e… 20.1, 22.0, 18.1, 
30.2, 18.1, 24.0, 32.0, 30.0 h¡& BZH$m hm‘mo{Z©H$ ‘rZ {ZH$m{bE&

9)	 Derive relation between AM, GM & HM.
	 AM, GM VWm HM ‘| g§~§Y ì¶wËnÞ H$s{OE&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Write a detailed note on genetics of speciation.
	 àOm{VH$aU H$s AZwdm§{eH$s na EH$ {dñV¥V {Q>ßnUr {b{IE&

11)	 Explain ANOVA with real time example.
	 ANOVA H$mo dmpñV{dH$ g‘¶ gmoXmhaU g‘PmBE&

12)	 Explain : g‘PmBE …

	 (i)	 Endoscopy 	 E§S>moñH$monr

	 (ii)	 Elastography	 BbmñQ>moJ«m’$s

	 (iii)	 Ultrasound		 AëQ´>mgmCÊS>

	 (iv)	 Tomography	 Q>mo‘moJ«m’$s	

13)	 What are the applications of bioinformatics?
	 ~m¶moBÝ’$m}‘o{Q>³g Ho$ AZwà¶moJ ³¶m h¢?


